30 Alternator: 858838

10413

Upd:2011-09-27 10413 7745630-30-19533

VOLN O TVMD41A, TMD41B, D41A, D41B, TAMD41A, TAMD41B, AQAD41A, AD41A, AD41B, 290A, DP-A, DP-B, DP-A1,
PENTA DP-B1, SP-A, SP-A1



Alternator: 858838

30

REF | PART NO. | QTY DESCRIPTION
1 858838 1 | Alternator For 12 voltage electric system., Also available as an exchange part.,
14V 50A
2 1]~ rotor
3| (859421) 1| - Stator Obsolete part
4| 6212688 1| = Mounting kit
5 840621 1| Fan
6 1| - housing
7 860432 1 |- - Ball bearing (848402)
8 1| - housing
9| (840625) 1 | = Mounting kit Obsolete part
10 840626 1| - Screw kit
11 1696944 1| - Diode bridge (859419)
12| (840629) 1| - Bearing race Obsolete part
13 864351 1| - Ball bearing
14| (840631) 1| - Protecting casing Obsolete part
15 858840 1| - Governor, governor with brush
holder
16 859312 6 |- - Screw
17 840632 1 | Brush retainer
17A 859312 2 | - Screw
18 955779 1 | Hexagon nut (M4) w
965483 2 | Flange nut (M5) d+, B-
945407 1 | Flange nut (M6) b+
19 941904 1 | Spring washer (For M4) w
20 840634 1 | Guide
7745630-30- 19533 10413 Upd:2011-09-27

TMD41A, TMD41B, D41A, D41B, TAMD41A, TAMD41B, AQAD41A, AD41A, AD41B, 290A, DP-A, DP-B, DP-A1,

DP-B1, SP-A, SP-A1

VOLVO
PPENTA



